
Answer

Write each decimal in standard form.

Circle the largest decimal in each group

  4. 5. 6.3.40 , 3.06 , 3.530 8.480 , 8.60 , 8.10

Round each decimal to the nearest whole number
7.

8.

11.

10.

9.60.660

580.06

55.43

4.48

32.03

Solve each problem

12. 13.

15.14.

38.53 - 14.403 480.07 + 50.76

68.06 × 50.56 2668.8 ÷ 480

Evaluate :

(x-y) = ? 28.03x16. 17.

1. 2.

3.

= 61

= 580

= 55

= 4

= 32

= 24.127 = 530.83

= 3441.1136 = 5.56

(41.40 - 3.04) = 38.38 28.03 × 80.61 = 259.49

5.03 , 5.480 , 5.300
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530.83
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600

3.06

5 22

8.10

590

1000
7 + 4 = 7 + 0.004 = 7.004 = 7004 × 10 -3

100
5 + 39  = 5 + 0.39 = 5.39 = 539 × 10

- 2

3 + 9 = 3 + 0.9 = 3.9 = 39 × 10
- 1

10

 39 × 10
- 1

 7004 × 10 -3

539 × 10
- 2
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